
GRAMMAR 
 
The house was so big —  (durum)  So ADJ that + sonuç 
 
that 10 people could live in it.  (sonuç!) 
 
 
 
I am here so that you can (<3) learn.    so that + AMAÇ 
Öğrenebil diye buradayım. 
 
 
I was here so that you could learn. 
 
 
Passive (be v3)   EDİLGEN (-l -n) 
 
Function: özne işi yapmıyor, işten etkileniyor. Asıl özne ya önemli değil ya da bilinmiyor 
 
 

Present 
Simple 

ACTIVE PASSIVE 
 
BE v3 

- Active - Passive 
be not V3 

?  
 
Active / 
PASSİVE 

+ Every year, 
people cut 
down millions 
of trees. 
 
 
 
 
 
keser 

Every 
year, 
millions of 
trees are 
cut down 
(by 
people). 
 
 
kesilir 

People don’t 
protect 
rainforests 
enough. 
 
 
 
 
 
korumaz 

Rainforests are 
not protected 
enough. 
 
 
 
 
 
 
korunmaz 

Why do 
people cut 
down millions 
of trees 
every year? 
 
Neden 
keser? 
 
/ 
 
Why are 
millions of 
trees cut 
down every 
year? 
 
Neden 
kesilir? 
 
 
 
 
  



Past 
Simple 

Last year, 
people cut 
down millions 
of trees as 
usual. 
 
kesti 

Last year, 
millions of 
trees were 
cut down. 
 
 
 
kesildi 

Last year, 
people didn’t 
protect 
rainforests 
enough. 
 
 
korumadı 

Last year, 
rainforests 
weren’t protected 
enough. 
 
 
 
korunmadı 

Active:  
 
Why did 
people cut 
down millions 
of trees last 
year? 
 
-for various 
reasons 
 
Passive: 
 
Why were 
millions of 
trees cut 
down last 
year? 
 
 

      

Future 
(will) 

Next year, in 
2023 people 
will cut down 
millions of 
trees as 
usual. 
 
kesecek 

Next year, 
millions of 
trees will 
be cut 
down. 
 
 
kesilecek 

Next year, 
people won’t 
protect 
rainforests 
enough. 
 
 
korumayacak 

Next year, 
rainforests will not 
be protected 
enough. 
 
 
 
korunmayacak 

Active:  
 
Will people 
cut down 
millions of 
trees next 
year, too? 
 
 
Passive: 
Will millions 
of trees be 
cut down 
next year, 
too? 

      

 
In our shop, tons of coffee are sold yearly. (sell) 
 
In the meeting, the boss was asked difficult questions. (ask) However, he (the boss) could 
answer all of them easily. (Patrona zor sorular soruldu) 
 
Employers were given awards for their hard work last week. (Çalışanlara ödül verildi) 
 
 
 
 



Present 
Cont. 

ACTIVE PASSIVE ACTIVE PASSIVE  

 Nowadays, 
people ---- 
millions of 
trees. 
 
 
 
are cutting 
down 
 
 
 
kesiyor 

Nowadays, 
millions of trees -
--- (by people). 
 
 
 
are (present) 
being (cont) cut 
down (v3) 
 
kesiliyor 

Nowadays, 
people ---- 
rainforests. 
 
 
 
 
aren’t 
protecting 
 
 
korumuyor 

Nowadays, 
rainforests ---
- 
 
 
 
 
 
aren’t being 
protected 
 
korunmuyor 

Active:  
 
Are people 
cutting down 
trees 
nowadays? 
YES! 
 
 
Passive: 
Are trees 
being cut 
down 
nowadays? 
 
 
 

Past 
Cont. 

When a small 
meteor hit the 
Earth,  people 
---- 
millions of 
trees. 
 
 
 
were cutting 
 
kesiyordu. 
 

Millions of trees -
--- when a small 
meteor hit the 
Earth in 2010. 
 

A) are cut 
down 
kesilir 

B) were cut 
down 
kesildi 

C) were  
being cut 
down 
kesiliyor
du 

D) have 
been cut 
down 
kesilegel
di / 
kesildi 

E) were 
cutting 
down 
kesiyord
u 

-  
Active 
 
 
People 
weren’t 
protecting 
rainforests 
during world 
wars. 

- 
Passive 
 
 
Rainforests 
weren’t being 
protected 
during world 
wars. 

Active:  
 
Were people 
cutting trees 
when a small 
meteor hit 
the Earth? 
 
 
Passive: 
 
Were trees 
being cut 
down when 
…? 
 

      



Present 
Perfect 

+ 
Active 
 
have v3 
 
People have 
cut down 
millions of 
trees (so far/ 
lately/ 
recently). 
 
kesti / 
kesegeldi 

+ 
Passive 
 
 
Millions of trees 
have been cut 
down lately. 
 
 
 
 
 
 
kesildi 

- 
Active 
 
 
People 
haven’t 
protected 
rainforests 
enough 
recently. 
 
 
korumuyor / 
korumamakt
a 

- 
Passive 
 
 
Rainforests 
haven’t been 
protected 
enough 
recently. 
 
 
 
korunmuyor / 
korunmamak
ta 

Active:  
 
Have people 
protected 
rainforests 
enough 
lately? 
 
koruyor mu? 
korudu mu? 
 
 
Passive: 
Have 
rainforests 
been 
protected 
enough 
lately? 
 
korunuyor 
mu? 
 
korundu mu? 

      

Past 
Perfect 

+ 
Active 
 
People had 
cut down 
millions of 
trees until the 
20th century. 
 
kesmişti 

+ 
Passive 
 
Millions of trees 
had been cut 
down until the 
20th century? 
 
 
kesilmiş miydi? 

- 
Active 
 
People 
hadn’t 
protected the 
rainforests 
enough until 
it was too 
late. 
 
korumamıştı 

- 
Passive 
 
 
Rainforests 
hadn’t been 
protected 
enough 
until… 
 
 
korunmamışt
ı 

Active:  
 
Had people 
cut down 
trees until 
the 20th 
century? 
 
kesmiş 
miydi? 
 
 
Passive: 
 
Had trees 
been cut 
down until 
…? 
 
kesilmiş 
miydi?  

      

 
I have been a teacher for more than 10 years. (isim cümlesi -etken) 
I had been a student before 2010.   (etken) 
 



had been v3      (edilgen) 
 
 
 
Koşul cümleleri 
Gerçek koşullar (FACT) 
 
İnsanlar bilinçliyse, ağaçlar kesilmez / korunur. 
If people are conscious, trees aren’t cut down / are protected. 
 
Suyu 100 dereceye getirirsen, kaynar. / kaynayacaktır. 
=getirdiğinde 
 
If you bring water to 100 degrees, it boils. / will boil. 
When you bring … 
 
Su 100 dereceye getirilirse, kaynar. / kaynayacaktır 
If water is brought to 100 degrees, it boils. / will boil. 
When … 
 
Senaryo koşulları 
 
Yeterince su içsen böyle sık hastalanmazsın. 
If you drank enough water, you wouldn’t get sick so often. 
 
Yeterince su içilse böyle sık sorun yaşanmaz. 
If enough water was drunk, problems wouldn’t occur so often. 
 
İnsanlar bilinçli olsa, bu kadar çok ağaç kesilmez(di). 
If people were conscious, so many trees wouldn’t be cut down. 
 
 
İnsanlar yüzyıl önce daha bilinçli olsalardı, yağmur ormanları daha iyi korunmuş olurdu. 
If people had been more conscious, rainforests ---- better. 
would have protected = korumuş olurdu 
would have been protected = korunmuş olurdu. 
 
 
If I were you, I would eat an apple every day. 
 
would eat an apple = yerdim 
 
An apple would have been eaten = yenilmiş olurdu / yenilirdi 
 
 
If the criminal were careful, she would destroy the evidence. 
Eğer suçlu dikkatli olsa(ydı), kanıtı yok ederdi. 
 



If the criminal had been careful, the evidence would have been destroyed. 
Eğer suçlu dikkatli olmuş olsaydı, kanıt yok edilirdi / edilmiş olurdu. 
 
 
 
 
HOMEWORK 
 
VOCAB Tablo 7-8 tekrar; 9 derste gösterilen örnekteki gibi çalışılacak. 
 
GR sayfa 60-65 
 
Reading Radiocarbon Dating ve Fashion of Tattoo parçaları 
 


